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PAPER -1
WUT—1

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.
T TS H U (50) g foaed T U9 €1 T W 6 g (2) 3k €| |l IRl o S
difsTa |

Which of the following comprise teaching skill :
(A) Black Board writing (B) Questioning
(C) Explaining (D) All the above

Which of the following statements is most appropriate ?

(A) Teachers can teach.

(B) Teachers help can create in a student a desire to learn.
(C) Lecture Method can be used for developing thinking.
(

D) Teachers are born.

The first Indian chronicler of Indian history was :

(A) Megasthanese (B) Fahiyan

(C) Huan Tsang (D) Kalhan

refifafead H 9 sTeamd e fohe €2

(A) WE-TREd  (B) U & (C) HHIMI (D) ST g+t

TefAfed aadel § S o AfHeh qeheTd © 2

(A) Toerh steama R Hhd £ |

(B) Torersh foremfelei & I UTe R T STeRIaN S H HWehd ¥ |

(C) Ta-uferan & o o o = yomedt 1 Suain faan ST ek 2|
(D) freres Ter € B

YT YR & YUH YR Sfaedsr 9 ¢
(A) TR (B) THE-IM (C) TIH & (D) heled
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4.  Which of the following statements is correct ?
(A) Syllabus is a part of curriculum.
(B) Syllabus is an annexure to curriculum.

(C) Curriculum is the same in all educational institutions affiliated to a particular
university.

(D) Syllabus is not the same in all educational institutions affiliated to a particular
university.

5.  Which of the two given options is of the level of understanding ?
() Define noun.
(I) Define noun in your own words.

(A) OnlylI (B) Onlyll (C) BothIandII (D) Neither I nor II

6.  Which of the following options are the main tasks of research in modern society ?
() to keep pace with the advancement in knowledge.
(I)  to discover new things.
(IlI) to write a critique on the earlier writings.
(

IV) to systematically examine and critically analyse the investigations/sources with
objectivity.

(A) IV, IIand 1 (B) I Il'and III (C©) IandlI (D) II OIand IV

7.  Match List-1 (Interviews) with List-II (Meaning) and select the correct answer from the
code given below :

List - I (Interviews) List - II (Meaning)
(a) structured interviews (i) greater flexibility approach
(b) Unstructured interviews  (ii) attention on the questions to be answered
(c) Focussed interviews (iii) individual life experience
(d) Clinical interviews (iv) Pre determined question

(v) non-directive

Code

(@ (b) (o (@
(A) Gv) @ G) (D)
(B) G) (v) (@) (D)
© M @ @) @
D) @ () (V) (@)

WXYZ—-00 4



4. frAfafed s 8 | & 98 7?2
(A) TISTShE ISAfeRUT T AT T
(B) UISIShH UISHTIeRU hl Ter-ish 31T T |
(C) TSIfaeR 3 Qi foreqor weensii o1 < foreht forvafearamer fodm @ v € s w9
AL

(D) drewsRH fore forafoenea fora § T HRIfoenerdl § T §AE T8l o © |

5. frafafead 31 foskedl 9 9 & ®R'' % STIET S 2
() E1 ! A
(I) S99 3eQ1 H G 1 AT
(A) WHI (B) WHII (C) 1w IITHI (D) IWHIH A HE o 7|

6. mifafed ¥ ¥ adu™ quS | 3Ny w1 g©T i T
() M gfg ! gfsran § T |
(I) % =3/ Al 1 ST |
(1) o forgt T e ot wHta
(IV) SN/ =di st gararg qde a1 3T fomafy grer=mmees fogetom |
(A) IV, IITE 1 (B) I IITHIII (CQ) 1T&II (D) I I T& IV

7. I (WeTeRR) i fHer gEI-10 (31e) § i qen = feu T e 9 w98 W ¢
e - 1 (HTETRR) T - 11 (379F)

(a) TIAES HATEHR () It T SUTm
(b) CreTfoE TraTehr (i) TS ool 1 SR SN F A W AW
(c) <hfsd HETERR (iii) STt e w1 ey
(d) IR HETERR (iv) qa-fauifa ge
(v) ST-THemmeR

Fe:

(@ B ((© @
(A) (v) @ @) (i)
(B) () (v) (@) (i)
© ) G @) @
(D) @ @) (v) ()
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10.

11.

What do you consider as the main aim of inter disciplinary research ?

(A) To bring out holistic approach to research.

(B) To reduce the emphasis of single subject in research domain.
(C) To over simplify the problem of research.
(D) To create a new trend in research methodology.

One of the aims of the scientific method in research is to :
(A) improve data interpretation (B) eliminate spurious relations

(C) confirm triangulation (D) introduce new variables

The depth of any research can be judged by :
(A) title of the research.

(B) objectives of the research.

(C) total expenditure on the research.

(D)

D) duration of the research.

Read the following passage and answer the questions 11 to 15 :

The superintendence, direction and control of preparation of electoral rolls for,
and the conduct of, elections to Parliament and State Legislatures and elections to the
offices of the President and the Vice - President of India are vested in the Election
Commission of India. It is an independent constitutional authority.

Independence of the Election Commission and its insulation from executive
interference is ensured by a specific provision under Article 324 (5) of the constitution
that the chief Election Commissioner shall not be removed from his office except in like
manner and on like grounds as a Judge of the Supreme Court and conditions of his
service shall not be varied to his disadvantage after his appointment.

In CW.P. No. 4912 of 1998 (Kushra Bharat Vs. Union of India and others), the
Delhi High Court directed that information relating to Government dues owed by the
candidates to the departments dealing with Government accommodation, electricity,
water, telephone and transport etc. and any other dues should be furnished by the
candidates and this information should be published by the election authorities under
the commission.

The text of the passage reflects or raises certain questions :

(A) The authority of the commission can not be challenged.

(B) This would help in stopping the criminalization of Indian politics.
(C) This would reduce substantially the number of contesting candidates.
(D) This would ensure fair and free elections.

WXYZ—-00 6



10.

11.

STARITET W o T B STTIent R HRon 2
(A) N9 1 FHEATEHS faeetoo

(B) =y &= H for fow st iz 0l & e
(C) Ny oo™ hl STereaehdl | 31fHeh TS oM
(D) =ny yfafy o =5 ygfa &1 g

STTEHM B A1 TSfd 1 Tk G 3239 ¢ ¢
(A) eTHREl o fareeror § gUR (B) 19 Ud Ffequi Hae i faro
(C) g ST SR qdaT &l gHAfad & (D) 73 T SUel ol JART

T <t TS FefaAtEd fhe T # ffeq &2
(A) Y I SR (B) MY BN ARSI qex
(C) MY W@ &l TS TR0 (D) =Ny ¥ HAfda 99

SreNfeafEa 30T Tl U ST U9 WE&AT 11 | 15 T ST ¢

T % Tl IR Swpuld, Tug IR faum qwisi w1 g9 w0 & ol waem e
TR A an e / fes e & ifuer fatem e @i fed @ € fratem e
T Gk AIfeehon |

Hfau™ o STT=% 324 (5) o Ted foRIY EYMl o SIRC Fai=d TN i @a=d a2
HTITICTeRT o L& | ITh! W& GHAREd &l T T 1 37 WaHMi % qed e Hated sge &l
3T I8 9 had 3% IRfEfaE § germn S wwhar €, A uRftfiE ¥ o =mea &
YT BRI ST Wehd § a1 3Hh! IR % qvEd e frated g ot Ha-3d 39w
% T H e T 2t |

Tafaar Re f4iem 7. 4912/1998 (GIN ¥R oM I A1 sfean w6 o) H fooeht
3= =merE A fdw fean for Sofiqard W st Tt Ui fagga, St oefiem SR Zieie s
ST IR AT PFTAH SEHIRER 1 foha 1 =feq. 3R 39 9§ Halfod o STanT & o1efi=
Tef=m AfereRTiEl 51 TRl =t ST =ieg |

TG IS H1 UIS TS YHI bl Ufafsiferd Hidr § a1 331 ¢

(A) THatem S Y | R A T ST Hehdt

(B) THY YR TSI o TR0 ol ok H Harrl et
(C) U9 g9 § 9T o arel SHiear i Ge | it erft
(D) g Trone wd freiy gAma o1 giafeaa wem

WXYZ—-00 7 P.T.O.



12.

13.

14.

15.

16.

17.

18.

19.

According to the passage, the Election Commission is an independent constitutional
authority. This is under Article No. :

(A) 324 (B) 356 (C) 246 (D) 161

Independence of the Commission means :
(A) have a constitutional status. (B) have legislative powers.

(©) have judicial powers. (D) have political powers.

Fair and free election means :
(A) transparency (B) to maintain law and order

(C) regional considerations (D) role for pressure groups

The Chief Election Commissioner can be removed from his office under Article :

(A) 125 (B) 352 (C) 226 (D) 324

The function of mass communication of supplying information regarding the processes,
issues, events and societal developments is known as :

(A) content supply (B) surveillance

(C) gratification (D) correlation

The science of the study of feedback systems in humans, animals and machines is known
as :

(A) cybernetics (B) reverse communication

(C) selectivity study (D) response analysis

Networked media exist in inter-connected :

(A) social environments

(B) economic environments
(C) political environments
(D) technological environments

The combination of computing, telecommunications and media in a digital atmosphere
is referred to as :

(A) online communication (B) integrated media

(C) digital combine (D) convergence

WXYZ—-00 8



12.

13.

14.

15.

16.

17.

18.

19.

9 35 & ATUR HAYE & A% §E % Sqa FareE S T wad
Fiaenties WfwR 2|

(A) 324 (B) 356 (C) 246 (D) 161
Frafem STmT 6t T o 21 §

(A) GidenfTes gsi g (B) Taumh wifaal emor e

(C) ~forek wfemal ¥RoT AT (D) TSI wiferal o e
Frroney wdl frater gme o1 o1ef % -

(A) IRERIan (B) hIA TS ool hiFH Wl

(C) &fta ol W &AM < (D) <oTE-GHgl & fe yfiem
TR % AT G IS ST hl 3Tk U U ST S Fehall T |
(A) 125 (B) 352 (C) 226 (D) 324

resifeh JHR 1 S Fq1 ot Sqafed, fafy, s % AR guwneii & et fawm &
el § 1 T | 39 URAT HI Fel SR

(A) T ifas TER (B)  Ufsha T <endl!
(C) AT Iqafey (D) UREARek He i gy

T, wRgetl ofR welie ® g Suafed st ufshen % e % a9 S S S R
(A) HrEeHfcr (cybernetics) (B) =l I 37T shH
(C) TrfSia wa Hehford steaam (D) YREARen ITEY I forgerso

Yo FER Sfehan Gren frfafaa dedf o dawa -
(A) G afem (B)  affeier wRfeerdt
(C) TSR Tiferard (D) T TatE

fefSteat Ao & wrgfdn, gr- g JoR T Hifen & < # 31
(A) AR gfia | w0 (B) TUehidhd UHR HIEAH
(C) festea e (DBEEAREI

WXYZ—-00 9 P.T.O.



20.

21.

22.

23.

24.

25.

26.

A dialogue between a human-being and a computer programme that occurs
simultaneously in various forms is described as :

(A) man-machine speak (B) binary chat
(C) digital talk (D) interactivity

Insert the missing number :

1615 17 14,
32°33731 34"
N 2 L) o 18 oy 18
()35 ()30 ()35 ()30

Monday falls on 20" March 1995. What was the day on 3™ November 1994 ?
(A) Thursday (B) Sunday (C) Tuesday (D) Saturday

The average of four consecutive even numbers is 27. The largest of these numbers is :
(A) 36 (B) 32 (G 30 (D) 28

In a certain code, FHQK means GIRL. How will WOMEN be written in the same
code ?

(A) VNLDM (B) FHQKN (C) XPNFO (D) VLNDM

At what time between 4 and 5 O’Clock will the hands of a watch point in opposite
directions ?

(A) 45 min. past 4 (B) 40 min. past 4

4 6
Q) SOH min. past 4 (D) 54H min. past 4

Which of the following conclusions is logically valid based on statement given below ?
Statement : Most teachers are hard working.
Conclusions : (I) Some teachers are hard working.
(II) Some teachers are not hard working.
A) Only (I) is implied
B) Only (II) is implied
Both (I) and (II) are implied
Neither (I) nor (II) is implied

WXYZ—-00 10



20.

21.

22.

23.

24.

25.

26.

A 3R HPF % o1 | o W GG o i ®9 804 © -

(A) THI-TRIA Aty B) fg witen Harg
(C) fesitea ard=id (D) A< Gishaat
SIS HE&AT Tl STR-TNId &
16 15 17 14,
32°33731'34""
19 19 18 18
(A) 35 B) 3 ©) 35 D) 3
20 {1, 1995 hl THER T | 3 TR, 1994 1 shiF @1 fa o1 ?
(A) FeHfdar (B) Y@ (C) HITAIR (D) fHeR

=R shitreh wn Hesti 1 siad 27 ¥ 1 578 9 99 9 9t S o 3
(A) 36 (B) 32 (C) 30 (D) 28

Teh Hfedr foee § FHQK &1 219 GIRL ¥ | 3t gfgar § WOMEN f&d YehR feran smam ?
(A) VNLDM (B) FHQKN (C) XPNFO (D) VLNDM

4 3R 5 o5t & ot fREt w1t &t geai fhar ot foada fewmedi # safeera i 2
(A) 4 ISR 45 THTe ™ (B) 4 SSTehT 40 TH7e W

4 6
(C) 4 o5 50Hﬁ:F|?StIT (D) 4 IS 54Hﬁq=r¢'q¢

Frefafea sfa W emerfa F= 3eya frewel § 6 fafy a1 TR g 82
®YA ;. SifeRi frerk gt 29
frerd . () oo T 9fed 2@ €
(1) T foremes 9l 767 2 1
A) HE (1) gfo T T
B) oM (II) If W4 |
C) ()& (I1) IHi gfem ¥4 & |

(
(
(
(D) (1) W (I1) I g ETa 78 § |
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27.  Who among the following can be asked to make a statement in Indian Parliament ?
(A) Any MLA
(B) Chief of Army Staff
(C) Solicitor General of India

(D) Mayor of Delhi

28.  Which of the following conclusions is logically valid based on statement given below ?
Statement : Most of the Indian states existed before independence.
Conclusions : (I) Some Indian States existed before independence.

(II) All Indian States did not exist before independence.

(A) only (I) is implied
(B) only (II) is implied
(C) Both (I) and (II) are implied
(D) Neither (I) nor (II) is implied

29. Water is always involved with landslides. This is because it :

(A) reduces the shear strength of rocks

(B) increases the weight of the overburden
(C) enhances chemical weathering
(D) is a universal solvent

30. Direction for this question :

Given below are two statements (a) and (b) followed by two conclusions (i) and (ii).
Considering the statements to be true, indicate which of the following conclusions
logically follow from the given statements by selecting one of the four response
alternatives given below the conclusion :

Statements : (a) all businessmen are wealthy.
(b) all wealthy people are hard working.
Conclusions : (i)  All businessmen are hard working.

(i) All hardly working people are not wealthy

(A) Only (i) follows

(B) Only (ii) follows

(C) Only (i) and (ii) follows
(D) Neither (i) nor (ii) follows

WXYZ—-00 12



27. R HEE H fRA o701 foem wen ot stEfa <t S gehdt €2
(A) =i ot faumes
(B) ot & TG
(C) ¥RA < HeTHaer (Hifafdet Sa 1w sfean)
(D) focelt & WeTiR
28. frefafed wem W enerfa om & frewd fafy-fafea du €2
HUT ;AT R Rerd @ae ge ot stefeerd off |
eRe : ()  $© vRd™ Rl &1 i @a= gd o o |
(1) I R Ramed S g6 st o =25 ot |
(A) Fad (1) faafea T
(B) %ad (I) faafem T
Q) (1) R (1) I forafera §)
(D) (1) 3R (1) I forafer 72 €1
29. EEe | St i yfieht AfEe ¥ 139 6 HR0F
(A) & YA St FHARAT hl faforer e 2
(B) el W <eiel H offg heell € |
(C) warafies Hfshan w1 Sfeid el 2|
(D) S T FAHHF el UG HE 1 /L

30. 39 ¥ % forg foum fdw -
T A (a), (b) R F=Rd (i), (ii) F=AIRRT € | el T T 1 iR gU e Fhst a6
fafeaa ¢, =g «ft ffeea =t fof Frefafed or fawedl 8 @ w1 @1 faeed Jeea | afvfd a2
TR IR | et T fahed o1 =19 &

HIT:  (a) S R oA

(b) Tt e =AfE it ¥
()  Hf ragrE gie T2 ¥
(i) T uferd =fa e @ €
A) IH () §E T

B) A (ii) T ®

C) T (i) 31 (i) T &

i) =1 (i) § 9 B T T

frreers

(
(
(©
(D)

)
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31.

32.

33.

34.

35.

36.

37.

Using websites to pour out one’s grievances is called :
(A) cyberventing (B) cyber ranting
(C) web hate (D) web plea

In web search, finding a large number of documents with very little relevant information
is termed :

(A) poor recall (B) web crawl

(C) poor precision rate (D) poor web response

The concept of connect intelligence is derived from :
(A) virtual reality (B) fuzzy logic
(C) Dbluetooth technology (D) value added networks

Use of an ordinary telephone as an Internet applicance is called :
(A) voicenet (B) voice telephone

(C) voice line (D) voice portal

Video transmission over the Internet that looks like delayed livecasting is called :
(A) virtual video (B) direct broadcast

(C) video shift (D) real-time video

Which is the smallest North-east State in India ?
(A) Tripura (B) Meghalaya
(C) Mizoram (D) Manipur

Tamilnadu coastal belt has drinking water shortage due to :
A) high evaporation
B

~—

(
( sea water flooding due to tsunami

(C) over exploitation of ground water by tubewells
(

D) seepage of sea water

WXYZ—-00 14



31. 27U THEET Rl JOHES 5 WHIRT i hi UhaT hl hed € :
(A) TEeRAfeT (B) HTEeR ¥ (C) da=e (D) a9 it

32. 4 gN Afyek He # U qxadsi st Wiy S Seifea e s st &, SH el S ©
(A)  &ffor ST ik (YR fehret)
(B) & TR (SIS ShieA)
(C) fha fafy =t geferar (ger Wi )
(D) o 9 Yeg (YT o WHUH)

33. T&W WG STHAT HI STAURVN Fal & o Tl 2

(A) HaYd T (B)  ¥ifayeth qeh
(C) =3 Y Tk (SIgY s (D) ¥ SAfd eeeh (g TSE "edeh)

34. WY AT H1 HAER Ueh e SURT F YR hl Had ¢
(A) 9" A (B) dfeH At (C) died WA (D) df3H e

35. T W Aifed JERu St foeified Yo THR S €9 R0 T § 3 R ©
(A) arfae difedl (av=ga sifean) (B) WcHET YERUI
(C) =ifear TemmRm (D) HHF Hoaeh aftedl

36. 9RA T T Biel I ToF HH ¢
(A) Frgu (B) T (C) THeH (D) TR

37. AMHTAIS & qed & H Ul shi At o T Freiferd €
A) At 9 H Sa 1 9o H qRadd 2
B) Gl o 0T WS Sel 1 FAw

C) Ead g YfHTd STer&dd 1 i< Sl

(
(
(
(D) HHET q¢ W @R I &1 R
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38. While all rivers of Peninsular India flow into the Bay of Bengal, Narmada and Tapti
flow into the Arabian Sea because these two rivers :

(A) Follow the slope of these rift valleys
(B) The general slope of the Indian peninsula is from east to west
(C) The Indian peninsula north of the Satpura ranges, is tilted towards the west

(D) The Indian peninsula south of the satpura ranges is tilted towards east

39. Soils in the Mahanadi delta are less fertile than those in the Godavari delta because
of :

(A) erosion of top soils by annual floods
(B) inundation of land by sea water
(C) traditional agriculture practices

(D) the derivation of alluvial soil from red-soil hinterland

40. Which of the following institutions in the field of education is set up by the MHRD
Government of India ?

(A) Indian council of world Affair, New Delhi
(B) Mythic Society, Bangalore
(C) National Bal Bhawn, New Delhi

(D) India International Centre, New Delhi

41. Assertion (A) : Aerosols have potential for modifying climate
Reason (R) : Aerosols interact with both short waves and radiation
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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38.

39.

40.

41.

STl WTAETU WRA 1 STfeehis Afeal ol Yo~ STt shi WSl | 2T 7, =l THer IR amt Afea
3T |IR H Hwifed 2t € =i 1o 3

(A) & % TN % ITTET el |

(B) UMIEHII MRA I gl TH=Ia: gd § ufv=m i 3R T

(C) HAYY YeqHTel & I H feord Rt wreigty e ot iR sifers = 1
(D) HAYY JeqHTel o <feror § feord WRd WRIgT 1 379 e i ST bl S|

TR SeRT 1 it i 3ol el Seel ¥ &H B % HRU T
(A) STeTeAeH & R0 Hagl iH ol el

(B) TR BT JHTE T SAT

(C) TERETG FHf it

(D) 9% YfH o1 ot THel gRT e

Toren o &3 O F=fafad § 9 foha TXem ot T YRd 9hR & e 9918 faam g=med
maﬁﬂﬁ%

(A) EfeTm wifaa ATh ac oThR, T8 foeel (B) Tafrw dreed), SMER
(C) ¥HA a1l wed, 7 feeet (D) Efean Serema ¥, 78 fooett

AfieRed (A) :  STaER B faRd il | S 1 giafda s 6t i e 2
T (R) : Y% U1 oY el TS 534 ¥ ToRtonl sl ST Ufshan H 9T 2t B |
(A) (A) 3R (R) T FA € 3R (R), (A) T T& ==2AT T

(B) (A) 3R (R) Sl ¥ ¥ W (R), (A) 1 3o fawermor =& 21

(C) (A) T ¥ W (R) 1A T

(D) (A) 978 § T (R) T |
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42. ‘SITE stands for :
(A) System for International technology and Engineering
(B) Satellite Instructional Television Experiment
(C) South Indian Trade Estate

(D) State Institute of Technology and Engineering

43. What is the name of the Research station established by the Indian Government for
‘Conducting Research at Antarctic ?

(A) Dakshin Gangotri
(B) Yamunotri
(C) Uttari Gangotri

(D) None of the above

44. Ministry of Human Resource Development (HRD) includes :
(A) Department of Elementary Education and Literacy
(B) Department of Secondary Education and Higher Education
(C) Department of Women and Child Development

(D) All the above

45. Parliament can legislate on matters listed in the State list :
(A) With the prior permission of the President.
(B) Only after the constitution is amended suitably.
(C) In case of inconsistency among State legislatures.

(D) At the request of two or more States.
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42. ‘SITE #3d g :

(A) T wR SeivHa st of-g gesTfa (System for International technology

and Engineering)

(B) TS SRZaRIT Seiiedisi TRTUdHe ( Satellite Instructional Television Experiment)
(C) w=Y ES9M ¢ §=2 (South Indian Trade Estate)

(D) e TG A® Il 3= T (State Institute of Technology and

Engineering)

43. YRA SR §R ST=Rfesh TR 9 I Cfad e hrieme o1 =19 o1 § 2
(A) Sferor T
(B) T
(C) 3T wsht
(D) =7 9 & off T

44. TG HEEH faem wae # freifed fem afmfea €
(A) Tt f3en Te werd faym
(B) WIeATHS: Ue I HieAHeh e fawm
(C) e wd Ry foerd farumn
(D) W fafed g+t

45. TF {1 § wfha ool W Sug fadaen wiia o Ted |
(A) Tl 1Y STIAM T
(B) oTufaa Hawifie Gele o e
(C) T faumawsti # Wenfd &1 e19E

(D) <1 31 QY AR T o AT |
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46.

47.

48.

49.

50.

Question Number 46 to 50 Not for VISUALLY HANDICAPPED CANDIDATES.

The following pie chart indicates the expenditure of a country on various sports during
a particular year. Study the pie chart and answer it Question Number 46 to 50.

Hockey / &
o
s N\ 15% [ 10%
O[b Q}%
2, XS
15% ¢ O™ 0%

Basket ba]lg
Cricket o
% 1219%

25% 1
125%

The ratio of the total expenditure on football to that of expenditure on hockey is :

(A) 1:15 B) 1:1 Q) 15:1 (D) 3:20

If the total expenditure on sports during the year was Rs. 1,20,000,00 how much was
spent on basket ball ?

(A) Rs. 9,50,000 (B) Rs. 10,00,000
(C) Rs. 12,00,000 (D) Rs. 15,00,000

The chart shows that the most popular game of the country is :
(A) Hockey (B) Football
(C) Cricket (D) Tennis

Out of the following country’s expenditure is the same on :
(A) Hockey and Tennis (B) Golf and Basket ball
(C) Cricket and Football (D) Hockey and Golf

If the total expenditure on sport during the year was Rs. 1,50,00,000 the expenditure
on cricket and hockey together was :

(A) Rs. 60,00,000 (B) Rs. 50,00,000
(C) Rs. 37,50,000 (D) Rs. 25,00,000
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46.

47.

48.

49.

50.

Y 46 | 50 Tk ZH-fashen safdt o foe 7@ §)

Freifera Tt forlt <o & fafie ©el ® i =09 &1 T&qdiehon i g1 @ ot
STACIR T U9 HEAT 46 | 50 T IW S |

Bleht
e »
15% fio%
STz st
fere %é\ 123%
25% )
125 %
Tesicl W iRl o 31U H feha=T =99 gat :
(A) 1:15 (B) 1:1 (C) 15:1 (D) 3:20

I TA-F3 § Thad | Fd 3 1,20,000,00 €1 § A STehedra T fhat ¥ &= i 7T -
(A) 9,50,000 ¥4 (B) 10,00,000 &9
(C) 12,00,000 9 (D) 15,00,000 9

Y ot gt s © o <91 o1 gty denfa 9 ©

(A) @l (B) e
(C) Tohehe (D) f=

Frefafed Gel & Ig-= 99 |
(A) Tl T | (B) TicWh TH Sehesial
(C) Tohehe Td Fesiial (D) @il Td TMeh

g T a9 H Wa-8 A A9 1,50,00,000 T § 1 fohehe Wo Bkl W wiwfaa =19 =
THRE :

(A) 60,00,000 T (B) 50,00,000 &9

(C) 37,50,000 T (D) 25,00,000 &9
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Question Number 46 to 50 FOR VISUALLY HANDICAPPED STUDENTS ONLY.

46. Which one of the following objectives is not included in the 73" Constitutional
Amendment of India :

A) To increase the productivity of the land
B

~—

(
( To reduce regional disparity in development
(C) To generate employment

(

D) To provide essential infrastructure facilities and amenities to the people

47. Corporative EIA (Environmental Impact Assessment) is to be conducted for :
A) the whole year

B the moist season

~—

C) any three seasons

(
(
(
(D) three seasons excluding monsoon

48. Which of the following contains 3/4 of the available fresh water in the world :

(A) Lakes (B) River water (C) Glaciers (D) Ground water

49. Which continent comprises 30% of the land area of the earth ?

(A) Australia (B) Asia (C) South America (D) Europe

50. It is believed that our globe is warming progressively. This global warming will
eventually result in :

A) melting of the polar ice
B

~—"

uniformity of climate at equator and pole

C) fullin see level

(
(
(
(D) increase in availability of usable land

-00o0-
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U9 46 | 50 ek giP-faerona forenfyft #q)

46. 73 9 HaufTew Geled § f o 9 S sewa wfmfera 17 82
(A) g T Jear =1 I
(B) Toehma H &g fawwar =1 3o
(C) TSR & T H Afugfg
(D) TR %! JAYT @iel & Glaem 9a S
47. wAiERol Hefia gema Bt THiaT (EIA) T HEER R
(A) THTH
(B) THtaTe HEH
(C) = +ft T By
(D) HFE 1 Sigohd iE +ff I Fgd
48. TrAfafea o 9 fead fava =1 3/4 e veifi| ©72
(A) i (B) ST 1 S
(©) TafrR (D)  fTa St

49. I 1 HEISY U F Y&F %k 30% AN H AW T
(A)  sTefera (B) TRmn (C) W=y Wi (D)

X

50. UE fovare foran sar € o R Aree fe sifes 3ot iar S @ § 1 U staemon ® f

ST=TATe 39 fshan < 1 fafaa afomd 2 -
(A)  geita fer ©e o faee

(B) 3 TS TRIR T HHN TOHE HT T
(C) wHEE TR ¥ fimae

(D) 3UARTY yEe | Ferad

-00o0-
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